@GARDENK Power Jet 40-Li Art.-Nr. 9338

134



Bild Nr.
Picture No.

Art. 9338
]

2

3

6

7

12

14

18

21

22

23

24

25

26

27

28

29
30, 31
31

32

33

34

35

37

38
39, 40, 41, 12
40

41

42

43
36, 37

Achtung!!

Ersatzteil-Nr.
Spare Part No.

9338-00.600.20
9338-00.600.05
9338-00.620.00
9338-00.600.17
9338-00.600.13
9830-00.600.28
9338-00.610.01
9338-00.610.02
9338-00.600.11
9338-00.600.23
9338-00.600.27
9338-00.600.15
9338-00.600.09
9338-00.600.24
9338-00.600.19
9338-00.600.16
9338-00.600.10
9338-00.660.00
9338-00.600.21
9338-00.630.02
9338-00.600.28
9338-00.600.08
9338-00.600.15
9338-00.640.02
9338-00.650.00
9338-00.630.00
9338-00.630.04
9338-00.630.06
9843-00.701.00

9845-00.701.00
9338-00.640.00

Bezeichnung

Accu Blaser PowerJet 40-Li
Tragegurt, kpl.
Abdeckung Griff
Platine

Feder

Knopf

Schraube ST 4x16
Motor

Lifter

Diffusor
Schwamm
Schraube M5x8
Feder

Knopf

Draht
Schenkelfeder
Feder

Hebel

Schutz
Schenkelfeder
Rohr oben
Schraube ST 4x12
Knopf

Feder

Diise

Fangsack

Rohr unten mit Rader
Rad

Scheibe

Wechselaccu BLi-40/160 (9843-20)

Ladegerat
Blasrohr mit Diise

Description

Accu Blower PowerJet 40-Li
Shoulder strap, cpl.
Grip cover

Printed curcuit
Spring

Knob

Screw ST 4x16
Motor

Fan

Diffusor

Sponge

Screw M5x8
Spring

Knob

Steel wire

Elbow spring
Spring

Lever

Guard

Elbow spring
Upper tube

Screw ST 4x12
Knob

Spring

Nozzle

Vac bag

Lower tube with wheel
Wheel

Washer

Replacement Battery BLi-40/160
(9843-20)

Battery charger
Blower tube with nozzle

Désignation

Souffleur sur accu PowerJet 40-Li

Bretelle, cpl.
Couvercle poignée
Platine électronique
Ressort

Bouton

Vis ST 4x16

Moteur

Ventilateur
Diffuseur

Filtre

Vis M5x8

Ressort

Bouton

Fil métallique
Ressort a branches
Ressort

Levier

Protecteur

Ressort a branches
Tube partie supérieure
Vis ST 4x12

Bouton

Ressort

Buse

Sac pour feuillage
Tube partie inférieure avec roue
Roue

Disque

Batterie remplacable BLi-40/160
(9843-20)

Transformateur de charge
Souffler tube avec buse

Die Instandsetzung von Elektrogeraten darf nur von einer Elektrofachkraft unter Beriicksichtigung der gesetzlichen Vorschriften durchgefiihrt werden.

Attention!!  The repair of electrical products must only be carried out by a qualified electrician in accordance with legal regulations.

Attention!!
9

10

16

19

23

Schraube ST3x10
Schraube ST3x14
Schraube M5x12

Mutter M8 Linksgewinde
Schraube M5x8

Nur die aufgefiihrten Teile
sind lieferbar!

Screw ST 3x10
Screw ST 3x14
Screw M 5x12
Nut M8

Screw M5x8

Only the mentioned
spare parts are available!

La réparation des produits électriques ne doit étre effectuée que par un électricien qualifié conformément aux dispositions Iégales.

Vis ST 3x10
Vis ST 3x14
Vis M 5x12
Ecrou M8
Vis M5x8

Seules les pieces indiquées
sont disponibles!

135



